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Low Sensitivity Optical Receiver

- Why Low Sensitivity ?
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< VCSEL based optical interconnect >

optical receiver

Optical Sensitivity : minimum p2p optical power to achieve a specified BER
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Low Sensitivity Optical Receiver

TIA Post-amplifier

< optical receiver front-end noise model >
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< Input-referred noise PSD >
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< Optical Sensitivity >
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< Original >

< TIA + EQ >

SNR = 6.29

SNR = 9.35

25Gbps 32Gbps

SNR = 7.17

SNR = 8.35

3.061mW

4.963mW
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Berkely Analog Generator

- Why BAG ?

source : SIEMENS

BAG
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Berkely Analog Generator

< size parameters file >

< layout generator code >


